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Don’t just model train and terrain, we model operations which means jobs and processes
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So the big question is: “what do you want to do?”  Try to pick a scheme that is consistent 
with what you are modeling

Note CTC/TCS started in the 20s and continues.  It coexisted with telegraph, phones and 
radio
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In actuality you may find the same constraints: lack of room and mainline affect your 
communications system as your layout.  TT&TO era is hardest because there is no room for 
all of the operators needed.  As usual compromises are needed.

Party line – safety feature. Radio were a great safety.

Phone  booth show Kermit’s
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What most layouts want
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No provision for station-to-station calling, although it could be done with extra button pads
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Light on phone booth goes off and stays off until next time the DS calls.  See Kermit’s 
example.
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E and F type handsets are a problem waiting to happen: they have a triangular cross section 
so you can’t tuck under your chin, they will fly off and being made of brittle bakelite they 
will shatter when they hit the concrete floor.

I have a friend who has some of these and can make better deals for stuff in better shape 
than Phoneco.  See me off line.

There are other, “Active” methods and I am working on it with a colleague.  These are easy 
to do and can use any old phone you might have around.
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OK for the DS.  Also consider candlestick phone on scissor mount.  You will need to rewire 
the candlestick: all of the refurbishers wire the transmitter in series with the receiver 
resulting in excessive sidetone
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Early G type handsets had rectangular cross section but were bakelite, later ones ABS.  Go 
for the ABS: lighter and unbreakable.
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Neat, sweet and out of the way  Note how nice Jack’s look.
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Phone likes 20-80 mA.

PBX is a real pain, too much dialing and waiting.  Conferencing is awkward at best.

Show a 401A card 
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Does the bottom circuit need a cap across the zener-resistor pair?

Contact for buzzer or other off hook indication.  Show ice cube relay, 150 ohms
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Station Circuit

Left circuit is simple button buzzer

Right circuit buzzes, but also cause relay (K1) to operate and latch thru contact K1 and 
normally closed hookswitch contact.  This keeps the station led

(use phone booth casting) lit.  When crew goes off hook at station, K1 is released.

If you are using Chubb a few extra inputs and outputs can easily do all the logic you need.

Button buzzer pads can be any push buttons you like on your dispatcher’s panel.  SP used 
buttons on the CTC panels.
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DS Circuit

In this circuit, the BF ground causes the DS to buzz.

When the Ds goes off hook, the relay operates and then latches to the BF ground, so the 
buzz won’t restart until everyone goes on hook

Can do all this logic with spare Chubb leads
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Sample of Punch block, tools

Cat 5 often available as scraps
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